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(A) REVOKE (B) INSERT (C) UPDATE (D) DELETE
13. Which of the following types of gates can be used to realize all

switching functions?

(A)AND gates (B)NOTgates (C) ORgates (D) NOR gates
14. 48 5 #ic F(A,B)=A+AB+1 > 3iE 3 fp * & F(AB)% ?

(A) F(AB)=AB (B) F(AB)=B (C) F(AB)=A (D)F(A,B)=1
15. Provided there are 16 lines in address bus of a computer cpu, what’s the
possible addressing range?

(A) 0~65536 (B) 0~1024 (C) 0~4096 (D) 0~16
16. Represent the bit pattern 1011010000011111 in hexadecimal notation?

(A) B490 (B) B49F (C) A499 (D) B4lF

17. The program
#Hinclude <iostream:=
int main()
{
mt number = 5;
while (--number == 1)
printf{("%s ", number % 2 ? "e" : "0o™);

}
will print
(A)eoeo (B) oeoe (C) eoeo (D) oeoe

18. The program

#inchide <iostream=

int main()

{
int s = 1, number = 6;
for (int counter = number; counter >= 1; --counter)

s *= counter;

std::cout << s <= std::endl,
return 0;

}

will print

(A) 40320 (B) 120 (C) 720 (D) 5040
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19. The program
#include <iostream=
int main()
{
double first = -1, second = 1, sum = 0;
for (int 1= 0; 1<==10; ++i)
{
sum = first + second;
first = second;
second = sum,;

H
std::cout <= sum << std:endl;
}
will print
(A) 34 (B) 55 (C) 89 (D) 144

20. The program
#include <iostream™
using namespace std;
int main()

{
mntx =4;
int &y =x;

}

will print

(A) 4048 (B) 4488 (C)4088 (D) error
21. Select the false statement regarding inheritance.
(A) Base classes are usually more specific than derived classes.
(B) A derived class can contain more attributes and behaviors than its
base class.
(C) Aderived class can be the base class for other derived classes.

(D) Some derived classes can have multiple base classes.
(% 4 F %5 %)



22. Polymorphism is implemented via in C++?

(A) inline functions

(B) virtual functions and dynamic binding
(C) Member functions

(D) Non-virtual functions

23. The program
#include <iostream>
using namespace std;
int main()
{
mt p.d;
bool flag;
for(p=2:p==45,++tp) {
flag = 1;
for(d=2;d<p;++d)
if (p % d==20)
flag = 0;
if (flag != 0)
printf("%i ", p);
b
h

What is the tenth print?

(A) 29 (B) 31 (C) 37 (D) 41
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(Z)®3 - BRE£ 5752 & O log n) time] Show a quick sort
algorithm can be made to run in O(n log n) time in the worst case,
assuming that all elements are distinct. (10 %)

(=)Using pseudo code to find all the factors of a positive integer. For
example, in the case of the integer 10, your algorithm should report the
values 1, 2, 5, and 10. (10 #*)
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